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CUESTIONES TIPO TEST 

PRIMERA PARTE: Bloque de preguntas objetivas con un valor total de 5 puntos. Se incluyen 15 preguntas tipo test, 

pero debe contestar solo a 10, las 10 que prefiera (si se contestan a más de 10, solo se valorarán las 

10 primeras respuestas). 

Cada acierto suma 0,5 puntos, cada error resta 0,15 y las preguntas en blanco no computan. 

Para contestar a este bloque debe utilizarse la hoja de respuestas tipo test. No deben entregarse soluciones detalladas de 
, 

estas cuestiones, solo marcar las soluciones en la hoja de respuestas. DEBE CONTESTAR A UN MAXIMO DE 10 PREGUNTAS 

Es MUY IMPORTANTE leer las instrucciones sobre cómo deben marcarse las respuestas. Las respuestas marcadas 

incorrectamente no se tendrán en cuenta. Solamente se corregirán las respuestas marcadas en la hoja de lectura óptica. 

1. Una unidad de carga 1 C es igual a

a) 1 e= 1 As

b) 1 e= 1 A m

c) 1 e= 1 A m-1

2. Sea g la aceleración de la gravedad en la superficie de la Tierra y R el radio de la Tierra. La 

aceleración de la gravedad se reduce a un valor igual a g / 4, a una altura h sobre la superficie 

dada por

a) h == R

b) h == 2R

c) h == 4R

3. La velocidad de un satélite de masa m que realiza una órbita circular de radio R alrededor de 

un planeta de masa M es 

8) V= !ffi 
b) 

c) 

V== 

V== 

GMm 

R 

GMm 

R2 

4. Un planeta tiene dos satélites que realizan órbitas circulares de radios R1 y R2 == 3,87 R1 ,

respectivamente. Las velocidades angulares de las órbitas de los satélites están

aproximadamente relacionadas por

a) w2 == 0,13 w1

b) Wz == 0,73 W1

c) w2 == 7,61 w1

5. Dos cargas (q1 == 16 q y q2 == -q) están fijas y separadas una distancia D == 15 mm. El campo

eléctrico debido a estas dos cargas se anula en un punto que se encuentra a una distancia d de

la carga q2 y a distancia D + d de la carga q1 , siendo

a) d == 1 mm

b) d == 3 mm

c) d == 5 mm

D d 
• ..,__ _______ lo--_ 

6. Un electrón (masa m y carga -e), partiendo del reposo, es acelerado por una diferencia de

potencial V. La velocidad final del electrón v es

a) 
2eV 

V == 
m 

b) 
ev 

V==-
m 

c) 
ev 

V== 
2m 
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FIRST PART MULTIPLE CHOICE QUESTIONS 

FIRST PART: Maximum score 5 points. 

A total of 15 questions are included here but a maximum of 10 questions should be answered, (in 

case of more than 10 answers, only the 10 first answers will be evaluated). 

Grading scale: Correct answer +0.5 points. Wrong answer - 0.15 points. No answer O points. 

Answer ONLY 10 questions on the mark-reading sheet. Detailed solutions are not necessary. 

Read the instructions to mark the correct answer. 

1. One unit of charge 1 C is equal to

a) 1 e= 1 A s

b) 1 C = 1 A m

c) 1 e= 1 A m-1

2. Let g denote the acceleration of gravity on Earth's Surface, and R the Earth's radius. The 

acceleration of gravity reduces to g/4 at a height h over the surface given by

a) h = R

b) h = 2R

c) h = 4R

3. The speed of a satellite with mass m performing a circular orbit of radius R around a planet of 

mass Mis 

a) 

b) 

c) 

V= 

v= 

v= 

GM 

R 

GMm 

R 

GMm 

R2 

4. Two satellites perform circular orbits around a planet with radii R1 and R2 = 3.87 R1 , respectively.

Then, their orbital angular velocities are approximately related by

a) w2 = 0.13 w1

b) Wz = 0.73 W1

c) w2 = 7.61 w1

5. Two charges (q1 = 16 q and q2 = -q) are separated a distance D = 15 mm. The electric field

due to these two charges vanishes at a distance d from the charge q2 and D + d from the charge

q1 , being

a) d = 1 mm

b) d = 3 mm

c) d = 5 mm

D d 
·1---------·1---

6. An electron (mass m and charge -e) is accelerated from rest through a potential difference V.

The final electron speed v is

a) 
2eV 

v= 
m 

b) 
ev 

v=-
m 

c) 
ev 

v= 
2m 
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7. The electric flux crossing a surface is larger when the surface

a) is perpendicular to the field.

b) is parallel to the field.

c) forms an angle of 45° with the field.

8. The work needed to move a charge in an electric field on an equipotential surface

a) is proportional to the charge.

b) is proportional to the distance travelled by the charge. 

e) is zero.
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9. The electromotive force (emf) induced by a time varying magnetic field in a square circuit of side

Lis

a) proportiona I to L.

b) proportional to L 
2

.

c) independent of L.

10. The angular frequency of a harmonic wave is 4n rad s-1
. Then, the period of the oscillation is

a) 0.25 s

b) 0.5 s

c) 2 s

11. In a harmonic plane wave of wavelength A, two points separated a distance d, measured in the

direction of propagation of the wave, are in opposition of phase if

a) d = A

b) d = 3A/2

e) d = SA/4

12. The speed of sound in air is 340 m s-1
. For a 2000 Hz sound, the wavelength is

a) 2.71 cm

b) 17 cm

c) 107 cm

13. In the Theory of Relativity, the relativistic mass of a particle

a) increases when the particle speed approaches the light speed.

b) decreases when the particle speed approaches the I ight speed.

c) does not depend on the particle speed.

14. The wavelength associated to a particle in motion (de Broglie wavelength), in the case of an

electron and a proton moving at the same speed

a) is larger for the electron.

b) is shorter for the electron.

e) is the same, if both have the same speed.

15. The energy of a light photon

a) increases with the light frequency.

b) increases with the light wavelength.

e) is zero.
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